## Norcon industries, inc. az lic. 088670 / 088671

5412 E. Calle Cerrito, guadalupe, az 85283 phone: (480) 839-2324 fax: (480) 839-2281

Date:

May 28 2015

To:

Kevin Dickerson

Phone:

928-642-4837

Prescott USD

Fax:

kevin.dickerson@prescottschools.com

From:

Jim Crater

Sales Representative

RE:

Collins & Aikman Flooring Quote for Abai Judd

Rooms:

all halls and the principal area and reception office

	Mohave Contract # 11E-NTAN-0701		
1,322 SY	Collins & Alkman Crayon, Color: outside the lines	\$28.95 SY	\$38,271.90
11,519 SF	standard floor prep	\$0.22 sf	\$2,534.18
26.44 SY	Maximum Overage 2%	\$28.95 SY	\$765.44
88 SY	Collins & Aikman Abrasive Action, Color: TBD	\$51.51 SY	\$4,532.88
4.40 SY	Maximum Overage 5%	\$51.51 SY	\$226.64
1,440.00 SY	zone charge outside Maricopa county	\$1.70 SY	\$2, <del>44</del> 8.00
1,700 SF	Burke 4" Rubber Cove Base, Color:black	\$1.09 LF	\$1,853.00
60 LF	Reducer, Color: Black	\$2.00 LF	\$120.00
1,280 SY	Removal of Existing Standard Carpet/Carpet Tile	\$2.95 SY	\$3,776.00
1 ea	dumpster	\$800.00 SY	\$800.00
710 LF	Removal of Existing Cove Base	\$0.08 LF	\$56.80
0 LF	upholstery	\$2.25 LF	\$0.00
432 Mile	Mileage Rate (outside Metropolitan Phoenix) 2 veh	\$0.445 Mile	\$192.24
24 Hour	Travel Charge (outside Metropolitan Phoenix) 6 men 4hr	\$39.00 Hour	\$936.00
18 Day	Per Diem (outside Metropolitan Phoenix) 6 men 3 days	\$29.50 Day	\$531.00
12 Day	Lodging (outside Metropolitan Phoenix)6 men2 nites	\$60.00 Day	<u>\$720.00</u>
		Sub-Total	\$57,764.08
	statute compliance		<u>\$2,703.27</u>
		Sub-Total	\$60,467.35
0 SF	Armstrong STD Excelon VCT, Color: TBD	\$0.00 SF	\$0.00
0 SY	Connections Corlon Sheet Vinyl, Color: TBD	\$0.00 SY	\$0.00
0 LF	Upgrade Chemical seams to welded	\$0.00 LF	\$0.00
0 LF	6" Integral Flash Cove	\$0.00 LF	<u>\$0.00</u>
	, and the second	Sub-Total	\$0.00
	statute compliance		<u>\$0.00</u>
	·	Sub-Total	\$0.00

#### Total Amount Delivered and Installed\*

\$60,467.35

Lead-time: 3-5 Weeks after Receipt of Purchase Order & Final Color Selection(s)

Price is Good for: 30 Days

<sup>\*</sup>Exclusions: Dumpsters, dumpster fees, asbestos abatement & removal, removal of wax from existing floor, floor preparation to bring concrete subfloor within specified standard 1/8" maximum deviation within 10' in every direction (non-cumulative), grinding/leveling of concrete subfloor, concrete infill where subfloor is demolished and/or patched, any patching, sanding plywood subfloor, moisture testing, special glue and/or sealants due to moisture in concrete, cleaning of subfloor, cleaning, vacuuming, waxing, mopping, sealing, and/or protection after installation, removal and re-installation of furniture in areas to be carpeted/tiled, protection and dust for sisting facilities, night and weekend work, excessive down time, storage, storage fees, permits, or bonds.

## NOICON industries, inc. az lic. 088670 / 088671

5412 E. Calle Cerrito, guadalupe, az 85283 phone: (480) 839-2324 fax: (480) 839-2281

Date:

May 28 2015

To:

Kevin Dickerson

Prescott USD

Phone:

928-642-4837

Fax:

kevin.dickerson@prescottschools.com

From:

Jim Crater

Sales Representative

RE:

Collins & Aikman Flooring Quote for Abai Judd

Rooms:

all halls and the principal area and reception office

1,322 SY	Mohave Contract # 11E-NTAN-0701 Collins & Aikman <b>Crayon</b> , Color: outside the lines	\$28.95 SY	'#20 271 AA
11,519 SF	standard floor prep	•	\$38,271.90
26.44 SY	· ·	\$0.22 sf	\$2,534.18
	Maximum Overage 2%	\$28.95 SY	\$765.44
88 SY	Collins & Aikman Abrasive Action, Color: TBD	\$51.51 SY	\$4,532.88
4.40 SY	Maximum Overage 5%	\$51.51 SY	\$226.64
1,440.00 SY	zone charge outside Maricopa county	\$1.70 SY	\$2,448.00
1,700 SF	Burke 4" Rubber Cove Base, Color:black	\$1.09 LF	\$1,853.00
60 LF	Reducer, Color: Black	\$2.00 LF	\$120.00
1,280 SY	Removal of Existing Standard Carpet/Carpet Tile	\$2.95 SY	\$3,776.00
1 ea	dumpster	\$800.00 SY	\$800.00
710 LF	Removal of Existing Cove Base	\$0.08 LF	\$56.80
0 LF	upholstery	\$2.25 LF	\$0.00
432 Mile	Mileage Rate (outside Metropolitan Phoenix) 2 veh	\$0.445 Mile	\$192.24
24 Hour	Travel Charge (outside Metropolitan Phoenix) 6 men 4hr	\$39.00 Hour	\$936.00
18 Day	Per Diem (outside Metropolitan Phoenix) 6 men 3 days	\$29.50 Day	\$531.00
12 Day	Lodging (outside Metropolitan Phoenix)6 men2 nites	\$60.00 Day	<u>\$720.00</u>
		Sub-Total	\$57,764.08
	statute compliance		\$2,703.27
		Sub-Total	\$60,467.35
0 SF	Armstrong STD Excelon VCT, Color: TBD	\$0.00 SF	\$0.00
0 SY	Connections Corlon Sheet Vinyl, Color: TBD	\$0.00 SY	\$0.00
0 LF	Upgrade Chemical seams to welded	\$0.00 LF	\$0.00
0 LF	6" Integral Flash Cove	\$0.00 LF	\$0.00
	-	Sub-Total	\$0.00
	statute compliance		\$0.00
		Sub-Total	\$0.00
		Juu- i ulai	341.4H3

#### Total Amount Delivered and Installed\*

\$60,467.35

\*Exclusions: Dumpsters, dumpster fees, asbestos abatement & removal, removal of wax from existing floor, floor preparation to bring concrete subfloor within specified standard 1/8" maximum deviation within 10' in every direction (non-cumulative), grinding/leveling of concrete subfloor, concrete infill where subfloor is demolished and/or patched, any patching, sanding plywood subfloor, moisture testing, special glue and/or sealants due to moisture in concrete, cleaning of subfloor, cleaning, vacuuming, waxing, mopping, sealing, and/or protection after installation, removal and re-installation of furniture in areas to be carpeted/tiled, protection and dust for disting facilities, night and weekend work, excessive down time, storage, storage fees, permits, or bonds.

Lead-time: 3-5 Weeks after Receipt of Purchase Order & Final Color Selection(s)

Price is Good for: 30 Days

# NORCON industries, inc. az líc. 088670 / 088671

5412 E. Calle Cerrito, guadalupe, az 85283 phone: (480) 839-2324 fax: (480) 839-2281

Date:

May 28 2015

To:

Kevin Dickerson

Prescott USD

Phone:

928 642 4837

Fax:

kevin.dickerson@prescottschools.com

From:

Jim Crater

Sales Representative

RE:

Collins & Alkman Flooring Quote for Granite Mountain Middle School

Rooms:

boy and girl rr entries in 200 and 400, rooms 201,204,205,206,208,209,210,301,302,303,304,400,402,

405,407 and hall,409 and hall,411, MPR snack bar,student lounge 2 rooms,414, storage by choir room

	Mohave Contract # 11E-NTAN-0701	-	
1,270 SY	Collins & Aikman Crayon, Color:tidal wave	\$28.95 SY	\$36,766.50
11,970 SF	standard floor prep	\$0.22 sf	\$2,633.40
25.40 SY	Maximum Overage 2%	\$28.95 SY	\$735.33
1,295.00 SY	Zone Chatge outside Maricopa county	\$1.70 SY	\$2,201.50
2,100 LF	Burke 4" Rubber Cove Base, Color:black	\$1.09 LF	\$2,289.00
60 LF	Reducer, Color: Black	\$2.00 LF	\$120.00
1,330 SY	Removal of Existing Standard Carpet/Carpet Tile	\$2.95 SY	\$3,923.50
1 ea	dumpster	\$800.00 SY	\$800.00
2,040 LF	Removal of Existing Cove Base	\$0.08 LF	\$163.20
4,798 sf	removal of existing difficult vct	\$0.46 sf	\$2,207.08
432 Mile	Mileage Rate (outside Metropolitan Phoenix) 2 veh	\$0.445 Mile	\$192.24
24 Hour	Travel Charge (outside Metropolitan Phoenix) 6 men 4hr	\$39.00 Hour	\$936.00
18 Day	Per Diem (outside Metropolitan Phoenix) 6 men3 days	\$29.50 Day	\$531.00
12 Day	Lodging (outside Metropolitan Phoenix)6 men2 nites	\$60.00 Day	\$720.00
		Sub-Total	\$54,218.75
	statute compliance		<u>\$2,375.49</u>
		Sub-Total	\$56,594.24
	<u>14M-NOR1-1014</u>		
4,815 SF	Armstrong STD Excelon VCT, Color: TBD	\$0.85 SF	\$4,092.75
38 SY	Connections Corlon Sheet Vinyl, Color: TBD	\$18.78 SY	\$713.64
5 4 gal	Mapeii ECO711 vct	\$35.45 4 gal	\$177.25
1 4 gal	Mapeii ECO350 sv	\$95.57 4 gal	\$95.57
1 ea	spool weld rod	\$39.45 EA	\$39.45
535 SY	install vct	\$8.14 SY	\$4 <i>,</i> 354.90
38 SY	install sheet vinyl	\$8.14 SY	<u>\$309.32</u>
		Sub-Total	\$9,782.88
	statute compliance		<u>\$363.30</u>
		Sub-Total	\$10,146.18

### Total Amount Delivered and Installed\*

\$66,740.42

\*Exclusions: Dumpsters, dumpster fees, asbestos abatement & removal, removal of wax from existing floor, floor preparation to bring concrete subfloor within specified standard 1/8" maximum deviation within 10' in every direction (non-cumulative), grinding/leveling of concrete subfloor, concrete infill where subfloor is demolished and/or patched, any patching, sanding plywood subfloor, moisture testing, special glue and/or sealants due to moisture in concrete, cleaning of subfloor, cleaning, vacuuming, waxing, mopping, sealing, and/or protection after installation, removal and re-installation of furniture in areas to be carpeted/tiled, protection and dust for kisting facilities, night and weekend work, excessive down time, storage, storage fees, permits, or bonds.

Lead-time: 3-5 Weeks after Receipt of Purchase Order & Final Color Selection(s)

Price is Good for: 30 Days

# Norcon industries, inc. az lic. 088670 / 088671

5412 E. Calle Cerrito, guadalupe, az 85283 phone: (480) 839-2324 fax: (480) 839-2281

Date:

May 28 2015

To:

Kevin Dickerson

Prescott USD

Phone:

928 642 4837

Fax:

kevin.dickerson@prescottschools.com

From:

Jim Crater

Sales Representative

RE:

Collins & Aikman Flooring Quote for Miller Valley

Rooms:

Abrasive action 3 areas

	Mohave Contract # 11E-NTAN-0701		v.
0 SY	Collins & Aikman <b>Crayon</b> , Color: outside the lines	\$25.69 SY	\$0.00
200 SF	standard floor prep	\$0.22 sf	\$44.00
0.00 SY	Maximum Overage 2%	\$25.69 SY	\$0.00
34 SY	Collins & Aikman Abrasive Action, Color: TBD	\$51.51. SY	\$1,751.34
1.70 SY	Maximum Overage 5%	\$51.51 SY	\$87.57
100 LF	Burke 4" Rubber Cove Base, Color:black	\$1.09 LF	\$109.00
35 SY	zone charge ouside maricopa county	\$1.70 SY	\$59.50
0 LF	Reducer, Color: Black	\$2.00 LF	\$0.00
22 SY	Removal of Existing vinyl Carpet/Carpet Tile	\$4.18 SY	\$91.96
0 ea	dumpster	\$800.00 SY	\$0.00
45 LF	Removal of Existing Cove Base	\$0.08 LF	\$3.60
0 LF	upholstery	\$2.25 LF	\$0.00
216 Mile	Mileage Rate (outside Metropolitan Phoenix) 1 veh	\$0.445 Mile	\$96.12
12 Hour	Travel Charge (outside Metropolitan Phoenix) 3men 4hr	\$39.00 Hour	\$468.00
0 Day	Per Diem (outside Metropolitan Phoenix) 6 men 3 days	\$29.50 Day	\$0.00
0 Day	Lodging (outside Metropolitan Phoenix)6 men2 nites	\$60.00 Day	<u>\$0.00</u>
		Sub-Total	\$2,711.09
	statute compliance		<u>\$123.91</u>
-		Sub-Total	\$2,835.00
0 SF	Armstrong STD Excelon VCT, Color: TBD	\$0.00 SF	\$0.00
0 SY	Connections Corlon Sheet Vinyl, Color: TBD	\$0.00 SY	\$0.00
0 LF	Upgrade Chemical seams to welded	\$0.00 LF	\$0.00
0 LF	6" Integral Flash Cove	\$0.00 LF	\$0.00
	~	Sub-Total	\$0.00
			\$0.00
		Sub-Total	\$0.00

#### Total Amount Delivered and Installed\*

\$2,835.00

\*Exclusions: Dumpsters, dumpster fees, asbestos abatement & removal, removal of wax from existing floor, floor preparation to bring concrete subfloor within specified standard 1/8" maximum deviation within 10' in every direction (non-cumulative), grinding/leveling of concrete subfloor, concrete infill where subfloor is demolished and/or patched, any patching, sanding plywood subfloor, moisture testing, special glue and/or sealants due to moisture in concrete, cleaning of subfloor, cleaning, vacuuming, waxing, mopping, sealing, and/or protection after installation, removal and re-installation of furniture in areas to be carpeted/tiled, protection and dust for alsting facilities, night and weekend work, excessive down time, storage, storage fees, permits, or bonds.

Lead-time: 3-5 Weeks after Receipt of Purchase Order & Final Color Selection(s)

Price is Good for: 30 Days

## NOCON industries, inc. az lic. 088670 / 088671

5412 E. Calle Cerrito, guadalupe, az 85283 phone: (480) 839-2324 fax: (480) 839-2281

Date:

May 28 2015

To:

Kevin Dickerson

Phone: Fax:

928 642 4837

Prescott USD

kevin.dickerson@prescottschools.com

From:

Jim Crater

Sales Representative

RE:

Collins & Aikman Flooring Quote for PHS fine arts lobby and auditorium

#### Rooms:

	Mohave Contract # 11E-NTAN-0701	•	
675 SY	Collins & Aikman <b>Crayon</b> , Color: tidal wave	\$28.95 SY	\$19,541.25
4,570 SF	standard floor prep	\$0.22 sf	\$1,005.40
27.00 SY	Maximum Overage 4%	\$28.95 SY	\$781.65
0 SY	Collins & Aikman Abrasive Action, Color: TBD	\$51.51 SY	\$0,00
0.00 SY	Maximum Overage 5%	\$51.51 SY	\$0.00
602.00 SY	Zone charge ouside maricopa county	\$1.70 SY	\$1,023.40
800 SF	Burke 4" Rubber Cove Base, Color:black	\$1.09 LF	\$872.00
540 LF	Reducer, Color: Black	\$2.00 LF	\$1,080.00
505 SY	Removal of Existing Standard Carpet/Carpet Tile	\$2.95 SY	\$1,489.75
1 ea	dumpster	\$800.00 SY	\$800.00
710 LF	Removal of Existing Cove Base	\$0.08 LF	\$56.80
248 LF	upholstery	\$2.25 LF	\$558.00
432 Mile	Mileage Rate (outside Metropolitan Phoenix) 2 veh	\$0.445 Mile	\$192.24
24 Hour	Travel Charge (outside Metropolitan Phoenix) 6 men 4hr	\$39.00 Hour	\$936.00
12 Day	Per Diem (outside Metropolitan Phoenix) 6 men 2 days	\$29.50 Day	\$354.00
6 Day	Lodging (outside Metropolitan Phoenix)6 men1 nites	\$60.00 Day	<u>\$360.00</u>
		Sub-Total	\$29,050.49
	statute compliance		<u>\$1,315.17</u>
		Sub-Total	\$30,365.66
0 SF	Armstrong STD Excelon VCT, Color: TBD	\$0.00 SF	\$0.00
0 SY	Connections Corlon Sheet Vinyl, Color: TBD	\$0.00 SY	\$0.00
0 LF	Upgrade Chemical seams to welded	\$0.00 LF	\$0.00
0 LF	6" Integral Flash Cove	\$0.00 LF	\$0.00
		Sub-Total	\$0.00
	Sales Tax		\$0.00
		Sub-Total	\$0.00

#### Total Amount Delivered and Installed\*

\$30,365.66

Lead-time: 3-5 Weeks after Receipt of Purchase Order & Final Color Selection(s)

Price is Good for: 30 Days

<sup>\*</sup>Exclusions: Dumpsters, dumpster fees, asbestos abatement & removal, removal of wax from existing floor, floor preparation to bring concrete subfloor within specified standard 1/8" maximum deviation within 10' in every direction (non-cumulative), grinding/leveling of concrete subfloor, concrete infill where subfloor is demolished and/or patched, any patching, sanding plywood subfloor, moisture testing, special glue and/or sealants due to moisture in concrete, cleaning of subfloor, cleaning, vacuuming, waxing, mopping, sealing, and/or protection after installation, removal and re-installation of furniture in areas to be carpeted/tiled, protection and dust for xisting facilities, night and weekend work, excessive down time, storage, storage fees, permits, or bonds.

## NOCON industries, inc. az lic. 088670 / 088671

5412 E. Calle Cerrito, guadalupe, az 85283 phone: (480) 839-2324 fax: (480) 839-2281

Date:

May 28 2015

To:

Kevin Dickerson

Prescott USD

Phone:

928 642 4837

Fax:

From:

Jim Crater

Sales Representative

RE:

Collins & Aikman Flooring Quote for PHS

Rooms:

103-104-304-401-402

435 SY	Mohave Contract # 11E-NTAN-0701 Collins & Aikman <b>Crayon</b> , Color: tidal wave	\$28.95 SY	\$12,593.25
3,690 SF	standard floor prep	\$0.22 sf	\$811.80
21.75 SY	Maximum Overage 5%	\$28.95 SY	\$629.66
0 SY	Collins & Aikman Abrasive Action, Color: TBD	\$51.51 SY	\$0.00
0.00 SY	Maximum Overage 5%	\$51.51 SY	\$0.00
456.00 SY	Zone Charge outside Maricopa county	\$1.70 SY	\$775.20
600 SF	Burke 4" Rubber Cove Base, Color:black	\$1.09 LF	\$654.00
0 LF	Reducer, Color: Black	\$2.00 LF	\$0.00
410 SY	Removal of Existing Standard Carpet/Carpet Tile	\$2.95 SY	\$1,209.50
1 ea	dumpster	\$800.00 ea	\$800.00
0 SY	Removal of Existing Standard VCT	\$4.18 SY	\$0.00
548 LF	Removal of Existing Cove Base	\$0.08 LF	\$43.84
0 SY	Removal of Existing Standard Carpet/Carpet Tile	\$2.95 SY	\$0.00
432 Mile	Mileage Rate (outside Metropolitan Phoenix) 2 veh	\$0.445 Mile	\$192.24
24 Hour	Travel Charge (outside Metropolitan Phoenix) 6 men 4hr	\$39.00 Hour	\$936.00
0 Day	Per Diem (outside Metropolitan Phoenix) 6 men 2 days	\$29.50 Day	\$0.00
0 Day	Lodging (outside Metropolitan Phoenix)6 men1 nites	\$60.00 Day	<u>\$0.00</u>
		Sub-Total	\$18,645.49
	statute compliance		<u>\$844.20</u>
		Sub-Total	\$19,489.69
0 SF	Armstrong STD Excelon VCT, Color: TBD	\$0.00 SF	\$0.00
0 SY	Connections Corlon Sheet Vinyl, Color: TBD	\$0.00 SY	\$0.00
0 LF	Upgrade Chemical seams to welded	\$0.00 LF	\$0.00
0 LF	6" Integral Flash Cove	\$0.00 LF	\$0.00
		Sub-Total	\$0.00
			\$0.00
		Sub-Total	\$0.00
	Total Amount Delivered	managed than make a fill in 1896	\$19,489.69

\*Exclusions: Dumpsters, dumpster fees, asbestos abatement & removal, removal of wax from existing floor, floor preparation to bring concrete subfloor within specified standard 1/8" maximum deviation within 10' in every direction (non-cumulative), grinding/leveling of concrete subfloor, concrete infill where subfloor is demolished and/or patched, any patching, sanding plywood subfloor, moisture testing, special glue and/or sealants due to moisture in concrete, cleaning of subfloor, cleaning, vacuuming, waxing, mopping, sealing, and/or protection after installation, removal and re-installation of furniture in areas to be carpeted/tiled, protection and dust for string facilities, night and weekend work, excessive down time, storage, storage fees, permits, or bonds.

Lead-time: 3-5 Weeks after Receipt of Purchase Order & Final Color Selection(s)

Price is Good for: 30 Days

# Norcon industries, inc. az lic. 088670 / 088671

5412 E. Calle Cerrito, guadalupe, az 85283 phone: (480) 839-2324 fax: (480) 839-2281

Date:

May 28 2015

To:

Kevin Dickerson

Phone: Fax:

928 642 4837

Prescott USD

kevin.dickerson@prescottschools.com

From:

Jim Crater

Sales Representative

RE:

Collins & Aikman Flooring Quote for Service Center- training portable and warehouse office

#### Rooms:

	Mohave Contract # 11E-NTAN-0701		
139 SY	Collins & Aikman Crayon, Color: precious metal	\$28.95 SY	\$4,024.05
1,176 SF	standard floor prep	\$0.22 sf	\$258.72
6.50 SY	Maximum Overage 5%	\$28.95 SY	\$188.18
4 SY	Collins & Aikman Abrasive Action, Color: TBD	\$51.51 SY	\$206.04
0.20 SY	Maximum Overage 5%	\$51.51 SY	\$10.30
200 LF	Burke 4" Rubber Cove Base, Color:black	\$1.09 LF	\$218.00
12 LF	Reducer, Color: Black	\$2.00 LF	\$24.00
131 SY	Removal of Existing Standard Carpet/Carpet Tile	\$2.95 SY	\$386.45
0 ea	dumpster	\$800.00 SY	\$0.00
170 LF	Removal of Existing Cove Base	\$0.08 LF	\$13.60
149 SY	Zone charge outside Maricopa county	\$1.70 SY	\$253.30
216 Mile	Mileage Rate (outside Metropolitan Phoenix) 1 veh	\$0.445 Mile	\$96.12
24 Hour	Travel Charge (outside Metropolitan Phoenix) 6 men 4hr	\$39.00 Hour	\$936.00
0 Day	Per Diem (outside Metropolitan Phoenix) 6 men 3 days	\$29.50 Day	\$0.00
0 Day	Lodging (outside Metropolitan Phoenix)6 men2 nites	\$60.00 Day	\$0.00
		Sub-Total	\$6,614.76
	statute compliance		<u>\$285.36</u>
		Sub-Total	\$6,900.12
0 SF	Armstrong STD Excelon VCT, Color: TBD	\$1.26 SF	\$0.00
0 SY	Connections Corlon Sheet Vinyl, Color: TBD	\$27.47 SY	\$0.00
0 LF	Upgrade Chemical seams to welded	\$2.25 LF	\$0.00
0 LF	6" Integral Flash Cove	\$5.41 LF	\$0.00
•	· · · · · · · · · · · · · · · · · · ·	Sub-Total	\$0.00
			\$0.00
		Sub-Total	\$0.00

#### Total Amount Delivered and Installed\*

\$6,900.12

Price is Good for: 30 Days

<sup>\*</sup>Exclusions: Dumpsters, dumpster fees, asbestos abatement & removal, removal of wax from existing floor, floor preparation to bring concrete subfloor within specified standard 1/8" maximum deviation within 10' in every direction (non-cumulative), grinding/leveling of concrete subfloor, concrete infill where subfloor is demolished and/or patched, any patching, sanding plywood subfloor, moisture testing, special glue and/or sealants due to moisture in concrete, cleaning of subfloor, cleaning, vacuuming, waxing, mopping, sealing, and/or protection after installation, removal and re-installation of furniture in areas to be carpeted/tiled, protection and dust for existing facilities, night and weekend work, excessive down time, storage, storage fees, permits, or bonds.

Lead-time: 3-5 Weeks after Receipt of Purchase Order & Final Color Selection(s)

## NOCON industries, inc. az lic. 088670 / 088671

5412 E. Calle Cerrito, guadalupe, az 85283 phone: (480) 839-2324 fax: (480) 839-2281

Date:

May 28 2015

To:

Kevin Dickerson

Prescott USD

Phone:

928 642 4837

Fax:

kevin\_dickerson@prescottschools.com

From:

Jim Crater

Sales Representative

RE:

Collins & Aikman Flooring Quote for Taylor Hicks

Rooms:

portables 101,102,103,104 - 6 classrooms, work room principal, reception 3 corridors

	Mohave Contract # 11E-NTAN-0701		
1,088 SY	Collins & Aikman Crayon, Color: outside the lines	\$28.95 SY	\$31,497.60
10,473 SF	standar floor prep	\$0.22 sf	\$2,304.06
21.76 SY	Maximum Overage 2%	\$28.95 SY	\$629.95
143 SY	Collins & Aikman Abrasive Action, Color: TBD	\$51.51 SY	\$7,365.93
7.15 SY	Maximum Overage 5%	\$51.51 SY	\$368.30
1,259.00 SY	Zone charge ouside Maricopa county	\$1.70 SY	\$2,140.30
1,600 SF	Burke 4" Rubber Cove Base, Color:match P187 blue	\$1.09 LF	\$1,744.00
60 LF	Reducer, Color: Black	\$2.00 LF	\$120.00
1 ea	dumpster	\$800.00 ea	\$800.00
1,020 SY	Removal of Existing Standard Carpet/Carpet Tile	\$2.95 SY	\$3,009.00
0 SY	Removal of Existing Standard VCT	\$4.18 SY	\$0.00
1,587 LF	Removal of Existing Cove Base	\$0.08 LF	\$126.96
0 SY	Removal of Existing Standard Carpet/Carpet Tile	\$2.95 SY	\$0.00
432 Mile	Mileage Rate (outside Metropolitan Phoenix) 2 veh	\$0.445 Mile	\$192.24
24 Hour	Travel Charge (outside Metropolitan Phoenix) 6 men 4hr	\$39.00 Hour	\$ <del>9</del> 36.00
18 Day	Per Diem (outside Metropolitan Phoenix) 6 men 3 days	\$29.50 Day	\$531.00
12 Day	Lodging (outside Metropolitan Phoenix)6 men 2 nites	\$60.00 Day	<u>\$720.00</u>
	•	Sub-Total	\$52,485.34
	statute compliance		<u>\$2,619.92</u>
•		Sub-Total	\$55,105.26
0 SF	Armstrong STD Excelon VCT, Color: TBD	\$0.00 SF	\$0.00
0 SY	Connections Corlon Sheet Vinyl, Color: TBD	\$0.00 SY	\$0.00
0 LF	Upgrade Chemical seams to welded	\$0.00 LF	\$0.00
0 LF	6" Integral Flash Cove	\$0.00 LF	\$0.00
		Sub-Total	\$0.00
	Sales Tax	6.07750%	\$0.00
		Sub-Total	\$0.00

#### Total Amount Delivered and Installed\*

\$55,105.26

Lead-time: 3-5 Weeks after Receipt of Purchase Order & Final Color Selection(s)

Price is Good for: 30 Days

<sup>\*</sup>Exclusions: Dumpsters, dumpster fees, asbestos abatement & removal, removal of wax from existing floor, floor preparation to bring concrete subfloor within specified standard 1/8" maximum deviation within 10' in every direction (non-cumulative), grinding/leveling of concrete subfloor, concrete infill where subfloor is demolished and/or patched, any patching, sanding plywood subfloor, moisture testing, special glue and/or sealants due to moisture in concrete, cleaning of subfloor, cleaning, vacuuming, waxing, mopping, sealing, and/or protection after installation, removal and re-installation of furniture in areas to be carpeted/tiled, protection and dust for a sisting facilities, night and weekend work, excessive down time, storage, storage fees, permits, or bonds.

## NORCON INDUSTRIES, INC.

2480 W. Ruthrauff Rd. #140 P Tucson, AZ 85705 AZ LIC. 088670 / 088671

Date: May 28 2015

To: Kevin Dickerson

From: Jim Crater

Phone: (520) 325-5752

Fax: (520) 325-5753

## RE: budgets for carpet and vct and sheet vinyl BUDGET

### Kevin,

Granite mountain middle school	\$66,740.42
Mile high Middle school	\$43,860.09
Service Center	\$ 6,900.12
Miller Valley	\$ 2,835.00
Abai Judd	\$60,467.35
PHS	\$49,855.35
Taylor hicks	\$55,105.26

Total

\$285,763.59 delivered and installed with tax.

This is current pricing
Please add 5% per year that you project out
Ie... 2016 would be \$300,051.77
2017 would be \$315,054.36
2018 would be \$330,807.08

Thanks, Jim Crater

Quote is good for 30 days

Norcon Industries Inc. is an Affirmative Action/Equal Opportunity Employer

# FLOORING

									PHS										WA						
The state of the s	Back Area of Boys P.E. Storage	Storage Room off Room 98	Handicapped Restroom by Library	Lounge Behind 211 and Upstairs from 216	Janitor's Closets 100,200,300 Hall	(Tile)	Ruth Street Theatre Lobby	Rooms: 1 103,104,304,401,402	(Tidal Wave)	Rooms: 1,2,3,9,10,11,101,102,103,104	3 Entrances Abrasive Action   Product	Interior Hall Carpet?	MPR Carpet ?		209 Carpet & 209 Hall	203 Carpet & 203 Hall	Computer Lab Carpet	East Basement Entry	Basement Flooring in Hall	C	East Kindergarten Entry Material	Old Admin Hall Carpet	Seam by Room 10	Front Entry Hall	YEAR ONE
The state of the s				, Room 216		Language of the second					And the state of t								New MPR Surface			Kindergarten Hall			YEAR TWO
CONTRACTOR AND								And the state of t					Rooms 15, 16											Room 25	YEAR THREE

						LNCOL												DEXTER	S
	Upst	Rooms : Staff	R&R Foyer	Office Area &	Front Office E			208	Tile	Building B: 20	Two Hallways	113,118,120	117 (ABC)	116	115(ABC)	101,102,105,110,123	Carpet		
	airs #11 & 12 au	ounge, 2,3, &		Hallway Upstai	Front Office Entry - (Abrasive Action)	South Bldg.				Building B: 207,209,210,213,217						10,123,			
	Upstairs #11 & 12 and Foyer between Rooms	Rooms: Staff Lounge, 2,3, & 5,6,7,8 Upstairs		Office Area & Hallway Upstairs to R&R Foyer	Action)					217									
	en Rooms										Total Control of the								
			MALE PROPERTY CONTRACTOR OF THE PROPERTY OF TH													Defendance of the second secon			
Kitchen - Tile	MPR Floor	Art Room - Tile	Music Roc	MPR	South Ent	North Bldg.	To the state of th				The state of the s					ACCUMENTATION OF THE PROPERTY			
Tile		Tile	Music Room - Carpet		rance - Abras	o.													
	Note: S Sport Flooring/AJ?				Entrance - Abrasive Action Materia						Amazon								
	(/AJ?				iterial									- Catalana	- Company	THE THE PARTY OF T			100 mm ray figures (100 mm ray figures)
			مستوانسات وجريات نما بدوجوي وجه	- Andrews Comments					Manage Control of the										